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INCREASE
the demand will increase.  People 
will want to get their fireworks and 
would be willing to pay a little more.

DECREASE
the demand will decrease.  The store 
would be willing to lower the price in 
order to sell the remaining ornaments.

INCREASE
since the supply is low, and everybody 
needs it, demand is still high.  People 
would pay the cost b/c they need gas.

DECREASE
the demand for last year's model will go down 
(since there is something new).  Dealers would 
lower the price to get the old cars off the lot and 
make room for the new models.

DECREASE
the bakery needs to "move" (sell) those cupcakes, 
otherwise they would lose money (something is 
better than nothing).  Though demand for these 
cupcakes may be low, people might buy them at a 
lower price.

PRI$E FOLLOWS DEMAND!


	Page 1

